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1 Use the quotient rule to differentiate each function.
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THE QUOTIENT RULE

1 Use the quotienl rule to differentiate each function.
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THE QUOTIENT RULE
3 Differentiate each function with respect to x.
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THE QUUTIENT RULE

3 Differentiate each function with respect to x.

&) ;:. 81,3+,le +€J(,+| u/(L)=2411+ 2bx +6

q — x>+ X* Vi) =b2-11x
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THE QUOTIENT RULE

() =YX
4 j(x)—x2+l

. Four steps in finding the simplest form of f(x) are given. Indicate whether each step is correct
or incorrect.

(.\'z+l)x l_-J;xZ_x X° +l_2“/—
A f’(.l')= —27; a2 f('\) g

(rz"'l)l (x +l)

_Ll-l_x___ x) = 5x 41 ‘
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/
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Vi) = 25 +1 Vi) = Lx
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K/(x)z 2y ) TRE  [B]) TRUE o

(x*+1)*

6)’{ X\ ~2ulx x2 F Y2 | — 4 x? 5 TRUE,
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%l[l) = ~3 +1 @ w usrrect
2\ (1)

5 Find the derivative of each function.

(@) 1':(\’2—4)(x+2) (b) /h(x)=4x-§--2x%+6x% (© ,V=J5x—-l
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THE JUOTIENT RULE

5 Find the derivative of each function.

;:(-2+1)J_ ()____ x+1
K) y=(x X N glx Qm

k) y= e+ = £+ "
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6 Show that the gradient of the tangent to the curve y = 2" l is zero twice, at x==l and x= 1.
| (+1) —2ex . _ xPyl 22 | - 1%
- @ @ — = =
2
;’i (>4 ) (x*+1)" (Z+1)*
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